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+o W en "”/9 Aayé For solehons b extend suer dermains
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Noviwhon of 2 scomerers alco worky for (%), The  moun
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-t

Solue ,%”— }L%g ‘“‘;‘fb‘} = O. Ag,a«-:’n we fearcl fur rol 2%
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A ' inkeauding  focdus é use Produed rude
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F
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Re cwll we have W = c%%‘ﬁ where d, = VY, and Y, wis given

o wheress 9, we wich e cdedede o W), Some how,
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‘le eSPdtW _ %
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7 OE T e
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= Y, - frdt

R S L
LTy
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we (on chose & = 1 for Caonveniency, angy a:%\.ar nen Zelo
Nolue would also 'ﬂ’{f%\ﬁb A ,\ff\@”‘(l*a vrdep endesD Funetion frem 9.

Loowing BacCk:
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EQ0 o
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Consider afz‘ﬁ// + bi’%f +c% = O

T ) ﬂﬁ C«ézmn of varict logp A = @
2 7

Thab is X =1n (76) N otiea
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e See §%.5 for »ﬁw bed’s dcodment of M Caudrva Guler roblgm,



On L INEAR D’ FFERENTTAL é:d UATranay AN é; GEN Funv e iianis @
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nice -Ceu\:{‘v\re of i Sm’”a’ﬁn lVneny Q?érac‘m-r Ty
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eigmvohner oce LT ond we wn show genecedized erppnfunchins
Mxe™ | K™ et fim o LT set of Aunchons,
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(-\_M\,&///|

l oy

— Rﬁm&(k @oﬂf wolry ::
- Yoo nw-a«or ds fegsmg
g #h Lost Ll P?%@rs

\-61-7!-”;

”

Ufé”@ff
QXD-;WU{) §x4’+@$]

% D(x6') 4+ xD(gF) +oxf'+ «f T
% £« XZ-F”-%(SX'F’—kO(){-F‘-\-o(&?‘(
(< D° + (agr )% D+ @) 1]

T Jondihy « =1, f=2

We can Sulue

= D+ )(xD+a)tw] =0

y J
Qt%w%’ﬁbfsﬁoh eV B&V\ﬁf\ dﬁuﬂa

@“C‘/x + /j




